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1.6. Advanced Algebra DATE: -
Solving Compound Inequalities B
Target 24. Ultilize a graph to illustrate the solution set of an absolute value inegquality. A
@D T T T T e . D
Compound inequality: two inequalities joined by the word AND or the word OR ]
Anticipation Guide: Please answer the following questions with your shoulder partner. N
1) What group of students is less than the seniors AND greater than the freshman?
M .
N Soph and Juniors”
2) What letter grade is greater than a D AND less than a B?
N C "
3) What group of students is less than the sophomores OR greater than the juniors?
| W
"ol
Freshman oR Seniors
4) What letter grade is greater than a B OR less than a D?
W\ I
N Aot Y
I N :
AND Compound Inequality o
¥
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AND Compound Inequality

A compound inequality containing the word AND is true if and only if both inequalities are true
(this means that the solution is where both inequalities intersect, or overlap)

Example f"\/
Graph the solution set for —1 <= x < 2. But —1<x < 2isthe same as —1 < x AND x < 2.
Q'U'“"M : } =
- é"‘? L]
—1 < x can be changed to x = —1 - 4 f > c’.J?“"}
-1 o :if‘l‘ea (;] 0
x = 2 . I - R .d‘l
T ¢ g 1
° o AP v
So the graph of —1 < x < 2 is where both parts intersect. ¥ s
* poj }
Gk builder: §x|Hexe 2 . : T, G
) -, ;:) _j—' u*qné
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Practice
1. Solve 13 = 2x+ 7 < 17. Graph the solution set on a number line.
-1 1A N
— *7 |
(L ell v 13 3
— - r 3
z . (3. 5
T ¢ pnal: C
v & Geb-builfer: § x| 3exesy Tn y
2. Solve 10 =< 3y — 2 < 19. Graph the solution set on a number line.
— i)
- 2) «—F >
12232 4 K N
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OR Compound Inequality
A compound inequality containing the word OR is true if one or more of the inequalities is true
(this means that the solution is the union, or both inequalities together)
Example
Graph the solution set for x < 1 OR x = 4. i
5]
x=1 + > ¥
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OR Compound Inequelity

(this means that the solution is the union, or both inequalities together)

U—'} Sﬂ“‘"] fo 1 vnton

So the graph of x < 1 OR x == 4 is both inequalities together.

Example
Graph the solution set for x < 1 OR x = 4.
x=1 & Q >
\
x=4 ) A .
» \4’4 >

Seb-buidet : § x| X £lonx>43

A compound inequality containing the word OR is true if one or more of the inequalities is true

* ¢ D >
e l i A
- . ™y
Practice
3. Solve y — 2= -3 OR y+ 4 < 3. Graph the solution set on a number line.
|
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So the graph of x < 1 OR x == 4 is both inequalities together.
. vy
P . "y
Practice
3. Solve y — 2= -3 OR y+ 4 < 3. Graph the solution set on a number line.
2 +2 -4 -y
y>-l 0R  ye - 2 —»
. — - 1—#
Set builder {91 Y=R3 Twdevwl: (=== t<)
4. Solve x +3 <2 OR —x = —4. Graph the solution set on a number line.
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